
สมบัติของการคูณดวย 0 และ 1 1110

เติมคําตอบลงในชองวางใหถูกตอง

การคูณดวย 5 และ 106.3

ตัวอยาง

2  ×  10  = 20

(1)

(2)

(3)

(4)

(5)

2  ×  5  =

3  ×  5  =

4  ×  5  =

3  ×  10  =

5  ×  10  =

P.2 Lesson 6.3



สมบัติของการคูณดวย 0 และ 1 11

เติมคําตอบลงในชองวางใหถูกตอง

ตัวอยาง 4  × =  4  1

(1) 7  × =  7

(3) 45  × =  0

(2) ×  1 = 26 

(5) 299  × =  299

(4) ×  1 = 81



การคูณดวย 5 และ 10 1312

เติมคําตอบลงในชองวางใหถูกตอง

การคูณดวย 5 และ 106.3

ตัวอยาง

2  ×  10  = 20

(1)

(2)

(3)

(4)

(5)

2  ×  5  =

3  ×  5  =

4  ×  5  =

3  ×  10  =

5  ×  10  =

P.2 Lesson 6.3



การคูณดวย 5 และ 10 13

(6)

(7)

(8)

(10)

(9)

5  ×  5  =

6  ×  5  =

8  ×  5  =

7  ×  10  =

6  ×  10  =



การคูณดวย 5 และ 10 1514



การคูณดวย 5 และ 10 15

ลากเสนจับคูใหถูกตอง

(1)

(2)

(3)

(4)

(5)

5  ×  1 20

5  ×  3 25

10  ×  2 70

5  ×  5 5

10  ×  4 15

10  ×  7 40

ตัวอยาง

(5)
10

10

5  ×  8  =

10
10


